
MEDIUM

45 min

ALLEN

Nº23
Nº  4
Nº  5

1 Person

PHILLIPS
SCREWDRIVER

Nº 10
Nº  17

10

12

14

16

11

13

15

17

3

6

5

8

9

2

4

7

1

3

8

4

4

3

4

8

4

1

1

1

1

1

1

1

1

1

TORNI-D7991-628

TORNI-AI----520

ARAND-EPDM--722

SOPOR6P3-L-3622

SOPOR6P3SL-3622

SOPOR6P3SR-3622

3622

SOPOR6P3-R-3622

SOPOR6P3-C-3622

ERS1UNIVERSAL

M6x35 DIN7991 Allen screw

M5x11 Ø11 ISO7380 Allen screw

M5 nylon Washer

M5x10 DIN7991 Allen screw

Ø8,5 x Ø14 x 20 bush

Ø4,5 x Ø11 x 2mm rubber washer

M5 ISO 7380 screw cap

Cap M6 nut

Left deflector (L)

Left screen support (L)

Right screen support (R)

Intensity box limiter

Yamaha power cable

Right deflector (R)

Central support

Box switch + suppport

ERS

ID QTY REFPART DESCRIPTION

M6 Lock nut

M O U N T I N G I N S T R U C T I O N S

ELECTRONIC REGULABLE SYSTEM (E.R.S . )
YAMAHA MT09 TRACER ‘ 18-

REF 3622

18 4 TUZBM6000000024

ERS1UNIVERSAL

ERS1UNIVERSAL

https://www.motorcycleid.com/puig/


Pg. 2/3

14

15

15

12

12

14

13

12

5

1
2

3

410

11

17

6

16

EXPLOTING

REF 3622

18

TIGHTENING  TORQUE 7Nm



8

9

6 WHITE

BLACK

ORIGINAL CONNECTORS

WIRING DIAGRAM

REF 3622

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

